[C2) ik mHT

X2 Tsil FABBAN)
# s BRA 69,446
ERAIT&E 3,296
FRYTA 17,935
iidi) 6,669
ZHET 6,749
=1L 28,842
78 K 4 1,768
FEE 1,294
= HIT 2,727
FEXRMARE 4,184
MEZFRAO 3,492
ABET @ = ZHET 1,660
fiE] A /)N B 2,132
bt B AR AT 4,130
EE ML AT 1,303
KEBT—TB 5,587
HinTEEXER 4,184
75 E SR 595
Y)\9;:3:CE:D] 4,599
WKET—TB 3,898
WKET=THE 2,034
SHE—TH 2,390
SB/ETZTH 3,714
EHBET—TH 5,126
EHETZTH 4,354
SCERHET 2,600
{E/RHT 13,715
AHE 512
HWLZTH 593
FH LA 921
& ILFE T Al 558
7K 3& st B A 421
BREW—TH 139
Nt = TH 596
FEEERE 2 977
Nt T B 429
INGTAR > TG 229
INIET B 910
FERE R 875
3 Hh 75 ) #h Aif 209
FEERE T 6,773

20154 11R

(%)

100

3R BIRERE

90
80

70 -
60 -
50 -
40
30
20 -
10 -

0

76.4

(A)
3.0

FRE#R &

2.5

2.0

15

1.0

0.5

0.0

0.9

HiRERAT~HHE FW=TE~EIEER

FRAERES

6%

94%

HRERAT~FHE  BLUZTE~BEBERHR

-1/1-




[C2-C3)iHHT - B RETE IR

20154 11R

) 3SR BEZEME

100

90

80

70 e
60
50
40
30
20 -
10 o
0

78.3

(A) FIRER /&

X2 Tsil FABBAN)
# s BRA 7,783
ER A& 436
ARYTA 1,521
iidi) 636
ZHET 508
=1L 2,151
iy ] 140
FER 11
= HIT 37
FEXRMARE 228
MEZFRAO 1,019
ABET @ = ZHET 158
fiE] A /)N B 161
bt B AR AT 116
EE ML AT 18
KERT—TEB 318
WRET—TB 127
WIKET=TB 136
SR/ET—TH 114
S/BTZTH 168
EHET—TB 338
EHETZTE 289
X IR T 268
EiRAET 810
FEFNET 268
FR FNET 314
BEEAH 164
FiRE AT 140
HiREE SR 71
FIRET = FHT 107
i RERA 178
% AT Al 467
Pt 210

35
3.0
25
2.0
15 13
1.0
0.5
0.0
i ER Al ~ SR HET EEAT~RgE
FIREHEIS
14%
86%
FRRAT~X AT {ERET~EE

-1/1-




